2015 sla oo
Olislu @ oml)
2015/5 /16 : g,

J¥ g giusall

Jal<iy Jaalis : salal

‘\-t,u 112 ) s5alal oS

Clbpdly ) padd = aslal) 4t A0 80:44<h 45
(J9¥) (oianal) galp asad) sgaling

duaatll Al a2yl o p(x)=x’+5 5 f(x)=

(w2 10)
(w1 5)

|

(Sl 5)':

oy Ay ce al

(A20220) :dg¥) Jipad
G ¢y DS Ly 125 Jlana 23,1 -()

1
\/’ 16— x* :
(g0 )x) 3 (fog))

lim(1 +sinx)*"* AU gl qua) -(@)

=0 i Abalia 4] A s ) ¢ il dad aa gl (g)

l1—cosx
)=y x°

c X =0

x#0

(A20920) : #4) J\pud
Y 91 gal gX oY) Al an
X

5x°y =3y +2=0 -(2) y=eIn(x’+1) -(1)
y =sin’(3x* +5) -(4) y=etetn (3)

-[ xlnx & —(u)

I(sin x+cosx) dx (%)

(4209 20) 1) Ji e
AGY) Ol Cua
dx
el
12+4x—x

x4+ 2x-1
Md (7
J.2x +3x% - 2x g (C)

/

(cila 1 10) hx 1l (2)

(“la 1 10)

claily d..\ﬁj.dl.: uLuA.;H ulbal &A
cilualy év.«d B _yaut)

(22 20) 20 I
4.:.:‘:” L)y PALNA | FETPEY (1)

[xtan"xax (1)

A0 cilsisdally Basaall Aihaial) dabus an. (&)
.y =4x, y=2x—4




8319819 it ] (S et ¢ it b3 ouaid | et b
Vel  balllags (8 b | ol
by el

) oty Sl S5 5 gl / it |
¥o10.¥ e 1§ ot lad] plald
19/5/2015 glgd) sasitdl: oot & Gl sl

+ ot | el ]

(Aaga 00y Jodl i

mas by b Brolal] Slwldl oo gSLLYL guwlall pladf JSS coils | g
Srleano;f delinag « plubi¥] ity o uargdgiS gILN byeS Joor Jgor dudprl
Jadd (iniio aga B JILT . pedadl dlSy dicdall Glaiasdll Jlow b
Sl ygdaldl 0t du ¥

S Gy Puw « Fum o Tpm b Wilay 86 GLEG gua gud of ol Ll
b el wIadf Adgduiane iy P Do b iy daadalf

gkl el
vh th \h gl Al
Yo 00 Yo
Ve ¢t A R W
vy T VA Yo
£ Yt \ g LI

 wigeliallg
- Al Sl ol ga Laailiind) gt Aadgiall Ll ypaas -
o ALl laglall dabgiall Aol yaas -
AN el aladdaly Bl Lot g may -
(1) padl Jlna ¢ aglll ¢ sl
L (i 0 ] I
+ el | sl | (30 B3kt JB o0 | () e i 1 (V) o s i : E g
(e By § U Gat Lgiey iy ¢ Shiteun Juat o Al w55 ol ) Ol ) aRED iy )
Halial) ULl lsal plaSiud gy pbal ealsll Aatily plgal oy Lubiiend! Cilaad) yans
AL bl af Lad Lgdptsa s ey LA cililes ¢ astill N 0,0 Ay juin LY
il e dopaga ol Cioa (gt daly My B o e SLEAYT ASh AN SAS iyt oSy LY
A Al A0 il b g I Alendl Aogland AU cllgall R ¢
o Jlaell ety U Bipatall LS Ao Aatlil) 4jlay) dbaadl Wl Ay SN 590 it Lo
Al Cilaal iad Jab G plsall o Tl Ay bt
OB b dagtuall Laghy aslill pae 8 3 Lagleadl Aagh oy (31 b ALalet] agteall Lo i
; . IR PVAEON]
cclhy paall Ao culal¥ 35 At ol Al iy LY
bl 35l (b Astall gl LNy Jsal) oo lal) oy LA
T lally Gl il o Dbl Ay o geg b 08 Luulaadl it 8
dadal) ) ‘ |




DLa ) gl g Bae Ul 5 gl 38 ey Ailaiall cilleal) Gy (A L Ll

"

:Y~\fﬁu.3

FALP U RLATPOTS S PPN PRKE H AR Sl Ll Ay a by Jf B )

.'Q’
,GO..~~W

?&UJ»)MJL% JJGAL\NC\~~~~ é&udsweﬁytu\'ué

BECHEWICORT SR Mﬁﬂuh‘pwﬁym°u§.
WM#M}‘FB/MC“"“ Mhl\ubhﬂ\d}\&hy\.u\\/uﬁ "
JAB) dada Y E v h@éﬁ@gﬂﬂ\g%\d\g&.\\&aﬁﬁhﬁ\“ P
.ﬁb)ﬁ\éh/M&&M\&ﬂfﬁGYO~n &Lad.énﬁ?ﬂ#wﬁ‘u&
ok cdian e apall ol GRASH A & S YN B

EYo e e Y L B Al ol s g o3 il YA B
Ly duad i) cildg puaall Ada 0 v vy ddie quanw B bl ¥ 1l &

- (el Aatas) Lppaslaall Astaal) lo Al clsland) S o

Yo e ol e e Jaa Al sl
Yove plip v 8 Akl agia B sl Aail slae]
Yore i ¥y B Al el dattd |

C\_;.dud,a}duwm@
,,,,, @Mcg‘}s‘w A‘
V g

F £



Mansoura University Time Allowed: 2h
Faculty.of Science ; % _ Date: 23/5/2015
Physics Department &= All Programs
General Physics Second Term Exam 2014-2015

i ' ’ _ Physics (102) Total Mark = 60 Mi@

| Answer the following Questions:

0.1a) Choose and write the correct answer: (ISMar ks)

¢

---E---. -

l) A charge moving in a magnetic field feels a force ..

a- Perpendicular to both the magnetic field and to the dlrectlon of motion of the charge.

b. Perpendicular to the magnetic field and parallel to the direction of motion of the charge.

¢. Parallel to both the magnetic-field and to the direction of motion of the charge.

d. All are correct. . P I ==

4. Ratio of the speed in light in a vacuum to the speed of light in that substance. —b. Ratio of the
- speed in light in a substance to the speed of light in that vacuum. —c. Ratio of the speed in llght

mlll a substance to the same speed of light in that vacuum - d." None of these iscorrect .

of reasons. Which of the following statements MUST be true?
a. At least. one sphere is charged. - b. Neither sphere is charged. —c. Both are charged -

d. Both have the same sign of charge. — e. None of these is correct

4) A surfaceis constructed so that at all points on the surface the electric field, E . points inward.
It can be concluded that................
a. The surface encloses a net positive charge. — b. The surface encloses a net negative charge
-cC The surface encloses no net charge. — d. None of these is correct

. #-' ’
a. The sphere of radius a. — b. The sphere of radius b. - c. They have the same potential. — d '
More information is needed to answer the questlon

6) A posmve charged particle traveling with a velocity v in an electric field E~ experiences a force

a. Parallel to v.— b. Parallel to E. - . Perpendicular to v. — d. Paralleltov X E .
f. Perpendicular to E . "
7) If the net flux through a gaussian surface is zero, the following four statements could not be
true. Which of the statements must be frue.......c......?
a. There are no charges inside the surface:~: b. The.net charge ‘inside the surface is zero. —
c. The electric field is zero everywhere on the surface. - d. The number of electric field lines,
entering the surface equals the number leaving the surface. :
8) Electric current may be expressed in which one of the following units? e
a. Coulombs/volt. b. joules/coulomb - c. Coulombs/second -  d. Ohms/sec. .
9) The force acting between two_point charges can be computed using which of the following
laws? S
a. Ohm's Law - b. Ampere's Law - “c. Coulomb's Law — d. Ne'wton's Second Law
10) For an infinite sheet of positive charge, the electric field lines:
a. Run parallel to the sheet of charge. — - b. Are perpendicular to the sheet of charge and
point in toward the sheet. - ¢. Are perpendicular to the sheet of charge and point away from
the sheet. - d. Fall off as one over r squared. ¥




11) Three capacltors with dlfferent capacltances are connected in series. Which of the following

statements is TRUE?
a. Allthree of the capacitors have the same potential difference between their plates. —b. The
‘magnitude of the charge is the same on all of the capacitor plates. — c. The capacitance of the

- _system depends on the voltage applied across the three capacitors.

~12) For a parallel-plate capacitor with plate area "A" and plate separation "d", the capacitance is
proportjional to which of the following?
a. Adivided by d squared — b.Atimesd— c. Adividedbyd - d. ddivided by A.

13) The wave nature of light is demonstrated by which of the following?
a. The photoelectric effect—  b. Color— c. The speed of light —  d. Diffraction.

14) The force on a charged particle moving parallel to magnetic field lines is:
a. In the direction of the field— b. Zero— c. Perpendicular to the field — d. In the opposite
direction of the field.

15) A dielectric material such as paper is placed between the plates of a capacitor. What happens
to the capacitance? ,

a.no change - b. becomes larger - c¢. becomes smaller - d. becomes infinite

Q.2a) As light travels from one medium to another with different refractive index, its frequency

does not change but its wavelength does, prove that, njA; = nj\q (5 Marks)
_ Q.2b) What is the difference between the Magnetic and Electric Forces. ¢ Marks)
A Q.2¢) Determine the electrlc_field due to a point charge q by using Gauss’s law *(5 Marks)

—Q3.a) A cubical surface with-sides 2.0 m long is oriented with its right and left faces perpendicular
~to a uniform electric field E~ = 1.6 x 10° N/C. Calculate the net charge enclosed by this :
surface is approximately. ' (5Marks)

* Q3.b) A singly charged positive ion has a mass of 2.5 x 10% kg. After being accelerated through a

potential difference of 250 V, the ion enters a magnetic field of 0.5 T, with velocity v =
56,568 m/s, in a direction perpendlcular to the field. Calculate the radius of the path of the

ion in the field. : (5 Marks)
Q3 ¢) A two farad and a four farad capacitor are connected in series. What single capacitance is
"equivalent" to this combination? ' (4 Marks)
Q4) Write the meaning of each expression. ' (8 Marks)
i. electric force on the test charge per unit charge. '
ii. A pair of equal and opposite charges q separated by a small dlstance is known B8 svtnin
iii. The net electric flux ADz through any closed surface is equal to the nef charge gi, inside the
surface divided by €,

iv. The potential energy per unit charge at a point in an electric field.
V. Adjacent points that have the same electric potential.
vi. Is a measure of how much charge must be put on the plates to produce a certain potentlal
difference between them.
vil. Is avector quantity that is directed along the zero-force axis,
viii. Is the rate at which charge flows through this surface

Examiners:  Prof. N. Bakr, Prof. K Elegaly, Prof. M. T. Ahmed,
- Dr. N. Kenawy, Dr/M. Abdelhamed, Dr.R.Moustafa, Dr. A. SAran



Mansoura University

Faculty of Science First Year Students

. Chemistry Department May 2015
| Chemistry 141 =) Time Allowed: 2 hrs
Phys. Chem. (1) S Full Mark: [60]
Final Exam
Answer the following questions: (Each question = 15 marks)

1- State and explain: i) the postulations of the kinetic theory of ideal gases?
ii) Graham's law
A mixture of 40 grams of oxygen (0O2) and 40 grams of helium (He) has a total
pressure of 0.9 atm. What is the partial pressure of both gases? (O =16, He=4)

2- Discuss the following:
i) The laws of mass action ii) Effect of temperature, pressure and catalyst on the
following reaction: 2A + B & A:B, AH =+Ve value
What are the values of K, and K. for the reaction: H2Oq) < H20)
given that vapor pressure of H20 = 0.8 atm

3- Write on:
i) Buffer solutions il) Active masses (molar concentrations)
iii) Common ion effect iv) Universal gas constant

What is the molar solubility of Pblz in 0.1 M Pb(NO3)2 solution, given Ksp for Pblz = 1.4 x 08

4- a) Give the reason:
i) Solution of CH3COONa is basic while the solution NH4Cl is acidic ii) the
occurrence of positive and negative deviations from ideal solution behavior iii) The
passage of solvent molecules from dilute solution to a more concentrated one
b) Write a scientific expression for: ' .
i) A property of the solution which depends on the amount of solute and not on its
nature ii) The vapor pressure of any component in the solution is proportional to
its mole fraction
¢) A 5% solution (by weight) of substance of unknown molecular weight in benzene
(Kv=15), the boiling point elevation was 0.5°C. Calculate the molecular weight of
the solute?

~ With Best Wishes
Prof.Dr. A. S. Fouda, Prof.Dr. M. Emam, Prof.Dr. A. Helmy and Dr. M. Abdallah
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